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3L The jewels ........ since Yesterday.
Now the police are investigating everyone in the house.
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46 Safari Parks are usually outside town........... tourists
often stay all day.
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341

The Taj Mahal is the beautiful tomb of Sah Jahan and his
wife. 1t is made of fine marble. People consider it a great memorial of love.I
342 Part I
description, narration comparison
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33 i of little importance to the astronaut
Among the followings.......... is of little importance to the astronant.
433
3 The word broad (line 6) means...........
a wide b. large
c. slim d.small
large  rough
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(The Statistical Package for Social Sciences SPSS)

Enter (Enter Multiple Regression Analysis)

(t-test) 13
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1. Condominiums
2. Self-Defence
(descriptive) 3. Headache
4. Greeting
5. Journey by
*
Tube ¥
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1 6. Aeroplane in a *
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(narrative) storm
7. Marco Polo |
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8. A Life-Saving
Call
9. The Olympics
10. Two
(comparison) Superstars
11.Pocket Money

12. Pandas
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